KZZ
ATL
OKW FIH
I
I 3 6322 (E 95 (ORG)/ 40 km/h

16}

W

0q 6322 ( E 95 (OR

.": —
Dg 6471
BR 56.20
(PR) /40 km/h ) -Z_
N\
{
P35
71(BR 75.5 (DR) / 75 km/h ) g )
\= --  1:F
- . DO 3571 ( BR 75.5
P 31 IR /5 km/R )| IS
{ _umm mo) [ AQ km/n) 24 N
Dg647 R 56.20 (=7 £-92.7-(DR)...00 km/h
%&* 38.10 (DR) / 100 km/h ) N8552-4E92.7 (DR) / 50 km/h) EEEANCE G )
= ¢ N
57 '@ g i
P 3930 ( BR 75.5 (DR) / 75 km/h
14 Et251 (ET 87 (DRG) L7k »., . i
r— " B
: gt 250 (ET 87 (DRG) / 70 km/h
£t 250 (ET 87 (DRG) / 70 km/h) it 250 ( ET 87 (DRG) / 70 km/h ) Tig (DRG)
=t 251
(ET 87 (DRG)/ 70 km/h
40
G ¢
o— 3 52 ne
]
70 k
y 85544 B (g Fhp 70,k
/
:  ‘P— 17
o 124
p 3240 (BR98.0 (DRG) / 50 km/h) 5
Et 283
U I | (ET 87 (DRG) / 70 km/h
/' 1 4
7



KzZ ATL OKW FIH
6
’/
P/ 11
! 1= 1
I 8.0 (DRG) / 50 km/) 1€t 283
p 3240 ( BR 98. AT (ET 87 (DRG) / 70 km/h
i | |y |#
izl 7
N
SO (EISTRET ) 4 e
" g
15Dg 632
) (ET 87 (DRG0 ) 28 (£ 67 (ORG)TTO R L252 CEE9 R 7o) |
Fi553 (BT 87 ORGTTO kM) =253 (ET 87 (DRG) / 70 km/h
8
-
P 3241 (BR 98.0 (DRg) , 50 2 I Th
kmvh ) 47 - )40 ke
58
13 ” .
i | 40 km
o Dg 6324 (E 95 (DRG)
R 19
Vay. N
Dg 6473 (g 11
(BR56.20 (DR) /4 km/h ) A
AN
1
’/
T
 \16
s (0 o (BR§6:20-OR)L40 km/n) |
64 ©
> 39¢r 94\ 8554 ( E 92.7 (DR) /50 km/h)
g554 (E 92.7 (DR) /50 km/h)
ﬁ
22 i
Et 255 — 4 km/h
i (=187 (DRG)364erry 2 54 (ET 87 (DRG) / 70 kMR AT (ET87 (ORG) /70 i
Et 254 (ET 87 (DRG)/ 70 km/h) || 255 (ET 87 (ORG) / 70 ki
59
|
’IA- / c 6
N85
) %3 (E92.7 (DR) /50 kmyh )
2 1
| 4 lB1.284.( ET.87.(DRG) /.70 km/h
i
e
Ll enin DD QQH(DRG)/E)Okm/h)




Kzz ATL OKW FIH
’IA / C 6
N|85
Y 53 (E92.7 (DR) /50 km/h )
G — n 17
— 212, a4 (ET.87 (DRG) /70 km/h
a1
o km/h
l(l b 3242 ( BR 98.0 (DRG) /50 )
- - :
Dg 6325 2 L o
(E95 (DRG)/ 49 km/h ) 'R =285 (ET 87 (DRG) / 70 km/h|) | I
1 K
E 273 ( BR 38.10 (PR).L.100.km/k.) _ﬂ&—' %;@AQQ%Z,: /E'-gn v
} A8 VEYITORG) 740 kR
h3
40 km/h)
0g 10512 (E 927 OR)/
45 \
Aq
12 .El Et 257(ET 87 anf‘/l 7U km/h_) -rn’l LD) P\ L0 KILCTy t256 (ET 87 (DRG)/70 km/h El
250 (o7 (s = i
1 /70 km/h) 58]
\ — =t 257 (ET 87 (DRG) / 70 km/h
P3
8 (BR98.0 (DRG) /50 km/h ) _
N
N
| —0
38
— 4n km/h
485 6326 (E 95 (ORC) / 40
Lz 14511 (E 92M N
okmih) q :
Ll | £ 95 (DRG) / 4
Dg 6326 ( Lz 14511 (E 92.7 (DR) / 60 kmyh
//
d €
1
49
ST %%%%6 20 //
6.20 (DR) /40, e
Bl /) N
il E 274 (BR 38.10 (DR) / 50 km
3
44 -
f1 N £ 92.7 (DR) /50 km/h )
6556 (£ 92.7 (OR) /50 ki) |1 8556 (
_
° 14 20
N|85
4
' ) 33 o
0 q 7RA2. L=
Et259 (ET Py TEISTORG) /50 kv ) [} A
“'ﬁ: S2DRG) G)/ 70 km/h )[ LI}
5 H-FORTR) 48 T B8 (ET 87 (OR ) !
1 T WNWM £t 258 (ET 87 (DRG) TTE: e |
E FLPBA'38.10 (0R) / 100 kit ) 2L . FRBREYT 70 km/h|) [[] 5¢
6 f Lz 14612 ( E 95 (DRG) / 70 km/h
Lz 14612 ( E 95 (DRG) / 70 km/h) ) )
| vy
o i
’26 Sz
Et 286 (ET 87 (DRG)/ 70 km/h
Dg 6327 (FQE /i~ ~. |




Kzz ATL OKW FIH

E 275 (BR 38.10 (DR) / 100 b -
— — 214612 (E 95 (DRG)/ 70 km/h

4

D
~
—

Lz 14612 ( E 95 (DRG) /70 km/h) A |

1091
N

f——
-’.:--"" 35 I -
| Et 286 (ET 87 (DRG) /70 km/h

D
96327 (E 95 (DRG) /40 km/h )

[4)]
’

Ry
A

H J
3 29 6327 (£ g VinY=Yat
 -’ | ) T=RE)146 Rt
11Et287 (ET 87 (DRG) / 70 km/h
i 7
|l gk ARG).-50.km/h.)
p 3244 (BRI90.UTEE
F
43
Et261 (ET 87 (DRG) £ 204 —_—— AL /70 km/h
J 1 == ( e lgxgwo (EF-87-DRG)L 20 knlh ).LB6T- 260 ET 87 (ORC)
: | S = 7

Et 260 ( ET 87 (DRG) /70 km/h) 561 (BT 87 —

RG) / 40 km/h

| |
N}
)

q6328 (E95(D

29

1 V]

7] | 40 km/h) )

1 Dg 6328 (E 95 (DRG) -—/_ |
48

=04 h )
576 ( BR 38.T0DRYT0 eadh-)

o

P 3245 l
(BR98.0 (DRG) 50 km/h ) 1°

(&%)

96475 (B
(BR 56.20 (OR) / 40 Ky T
\

..

Il R)/ 40 km |
S Dg 6474 (BR 5620 (O ) ——
) 2| oses (£ 627 (OR) | 50 R
I A2 8558 ( E 92.7 (DR) /5
8558 ( E 92.7 (DR) /50 km/h)
2
ZC i 3572 ( BR 75.5 (DR) / 75 km/h
5.5 (DR) / 75 km/h)
p 3572 (BR 75.5 (DR) |
s 39
%
NESS7(E92.7(DR)/50km/h) ?
/

2¢




